ITI Welder 1st Year Module 4 Pipe welding techniques

(1). Which metal are used to make welding machine earth clamp? | CIRSUE: UG

31ef FefT s o fore fob g 1 1 ST fopan s 82
(A) Iron | TTET

(B) Brass | Uidd

(C) Aluminium | SegHIT=TH

(D) Copper alloy | TIaT FAT3d &g

Correct Answer : D

(2). What is the name of the development drawing shown in figure? | ICEE:|

femmu U 9 R wTam R 82
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(A) Y joint | YIS
(B) Tee joint | I SIS
(C) Elbow joint | Teal SIIS



(D) Locked groove joint | Tl Jd SIS

Correct Answer : A

(3). How many types of manifold system are there? | AfIce e fham TR
FEAE?

(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : A

(4). What is the name of development drawing shown in figure? | ICEE:| GQIiQ Ry
CEARICECARIE IS

M=ra o J
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(A) Yjoint | YIS

(B) 90° Tee joint | 90° T1 SIS

(C) 90° Elbow joint | 90° Tesl SIS
(D) 45° Branch joint | 45° FRA SIS

Correct Answer : B



(5). What is the name of the joint shown in figure? | e | & U SIS &1
FTG?

@

(A) Pipe butt joint | usqa‘c'tvh‘s'

(B) Pipe lap joint | trra’q%UGh‘s'

(C) Pipe flange joint | OT3Y b dl g3fT fbART SIS
(D) Pipe composite joint | tl'ls'qﬁlfglﬂ\_rh_s’

Correct Answer : C

(6). What is the welding position as per ASME for a pipe joint held vertically,
welding in a horizontal line? | Ud aﬁl\_ﬂ?{@ll H afc'\S"l, ddad 0 939 MY Yigy

& foTT ASME & SR afedT &t fRUfd /T g2

(A) 1G

(B) 2G
(C) 5G
(D) 6G

Correct Answer : B



N

(7). What are the standard electrode lengths available? | HIHd ﬁadgls c‘i®|l$r
JUA gidl g2

(A) 250 mm and 350 mm

(B) 350 mm and 450 mm
(C) 400 mm and 500 mm
(D) 500mm and 600mm

Correct Answer : B

(8). What size of CCMS filler rod is used for finish run of ¢ 50mm pipe root welded
using $1.65mm filler? | CCMS fFER I BT BT 3THR ¢1.65mm HTR BT
ST P des S UIRY ¢ 50 mm UISY F=C o ORI I & o Syt fava
ST 82

(A) ¢ 1.6 mm

(B) ¢3.0mm
(C) 3.5mm
(D) &4.0mm

Correct Answer : B

N

(9). What is the name of last bit of an discarded electrode? | U GRS ‘éc-'\idt;\ls

& SffoH fae dTAH w182
(A) Redend | IS TS

(B) Deadend | 3 US
(C) Stubend | TS US
(D) Waste end | 9% US

Correct Answer : C



(10). What is the base for selecting the nozzle size for gas welding of a pipe? |

12U &1 719 afcE T & e FIoTdl SR &1 994 HR & Al SMUYR 152
(A) Groove angle | Jd BT hIUT

(B) Welding position | d¢g o1 fRfd

(C) Diameter of pipe | U3 &1 TN

(D) Pipe wall thickness | UTSU 1 SlaR &1 HicTs

Correct Answer : D

~

(11). What do you call the non - coated electrodes? | 3T F-dics 5@10@6 Ca

R PHad 87
(A) Row electrode | ﬁ%@ﬁ@j—é
(B) Bare electrode | W%@Fﬁj@

(C) Base electrode | é?trséaejls
(D) Deep penetration electrode | @'qa:ﬂé}'l:f 3@5@3

Correct Answer : B




(12). Which is the pipe joint for given pipe development? | %QTFQWW?
U URU S P ATR?
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(A) Yjoint | YSIISC

(B) 90°Tjoint | 90° T SisC

(C) 60° branch joint | 60° ST Sligc
(D) 50° branch joint | 50° §id SlsC

Correct Answer : B

(13). What is the main function of the flux coating in electrodes? | 3@3@31&[

T PIfCTT BT - BT 1§72

(A) To prevent rusting | ST €T T b o forg

(B) To stabilize the arc | 31T &I fRR & & fouw

(C) To control arc temperature | 3{Tcb & dATYH &l AT H & forg
(D) To increase welding current | AfcST i SgM o T

Correct Answer : B




(14). How many equal divisions should be made while developing a “T” pipe joint?

| T "1 UI3U Slisc [ddbiad ®d 9Hd fhas gaH faureH feu smr anfee?

(A) 4 equal divisions | 4 dRTdR faHTSH

(B) 6 equal divisions | 6 SRT&R fAHTSH

(C) 9 equal divisions | 9 SRT&R fAHTSH

(D) 12 equal divisions | 12 SRT&R fAHTSH

Correct Answer : D

(15). What is the name of the joint shown figure? | |3@|l‘3c TI—SCWWWW
T g?

(A) Tee | Tl
(B) Butt | §C
(C) Elbow | TSI
(D) Branch | RITdT

Correct Answer : C

(16). Which polarity used in welding cast iron? | ®IXC 3R D1 dfeg T | [y
¢[adT T SUTNT [T ST 82

(A) Rectifier set | IFeHRR Te



(B) AC Transformer | AC@FQO_IITT
(C) Reverse polarity | WW
(D) Straight polarity | @‘éﬁm

Correct Answer : C

(17). What is the name of the position shown in figure? Pipe shall not be rotated
during welding. | 1 7 faamy 7 fufa &1 7 o 82 AfETT o SR Uigu &t
R a1 SIE|

)

(A) 1G

-2

15=

(B) 2G
(C) 5G
(D) 6G

Correct Answer : C

(18). Which one of the device is used to divide equal parts? | JHI U I

fquTfora A & foru fre SuHRur &1 SUdiT fhar ST /2
(A) Scale | Thd

(B) Scriber | FEPIR

(C) Compass | PUTH

(D) Trysquare | gréw

Correct Answer : C



(19). Which size of filler rod should be used to weld 2mm thick MS sheet? | 2 mm

HIEY ms 2fie Bl dcg DA & fod fber A & fobd bR b1 U fobar ST
ElI

(A) 1.6 mm

(B) 2.0 mm

(C) 2.5mm

(D) 3.15mm

Correct Answer : A

(20). What is name of the develop shown in figure? | EEE] |3@|Q TI'Q%WW
TH T g2
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(A) Yjoint | YIS

(B) Teejoint | CI SIS

(C) Elbow joint | PGl BT GIIg
(D) Branch joint | ST SIS

Correct Answer : D



(21). What is the size of nozzle suitable for welding 50mm dia pipe, with 3.15mm

wall thickness? | 3.15 mm HicT dlar & 1Y 50 mm WWWW%%’Q
SUYa Aol BT THR T 62

(A) 5
(B) 7
(C) 10
(D) 13

Correct Answer : B

(22). How do draw the curve in development drawing? | fomrg Y@ied | a%
Y FIE?

(A) Compass | =1 Ia® T
(B) Free hand | gad 81U

(C) Template | CHIIC

(D) Tensile | TTlc

Correct Answer : B

(23). Which size of CCMS filler rod is to be used for welding plate of 8mm thick
with ‘V’ edge preparation? | CCMS fihelk IS BT BT THR 8 mm HICT AT
Wi R 'V 7 SHTHR BT TS S o [ SUIART {1 Srdn 82

(A) 3.15mm @

(B) 4.0mm@
(C) 5.0mm@
(D) 6.3 Mm@



Correct Answer : C

(24). How many segments are to be selected for welding 50 mm j pipe? | 50 mm j

UT3U B AfeET B & fort forem Sie g o 82
(A) 3segments | 3TS
(B) 4 segments | 4 TS
(C) 6segments | 6 TS
(D) 8segments | 8 @S

Correct Answer : B

(25). Which one of the following is used to convert AC to DC supply in a welding

machine? | Wﬂ?ﬂqﬁAcﬁDcmﬁmmémﬁgﬁﬁ
fgest IuaT fhar ST 82

(A) Rectifier set | IFeHRR Ic

(B) Motor generator set | HieX SFReX I¢
(C) Engine generator set | WW@’C’
(D) Welding transformer | W@F‘ﬂﬁ?

Correct Answer : A



